Cimbrian Air

for Percussion Quartet
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instrumentation.

percussion 1 - tam—tam + very soft beaters, 3 dobachi bells (eb, c#4, a3)+ medium beaters
percussion 2 — suspended cymbal + very soft beaters, vibraphone + 2 bows or soft mallets
percussion 3 — suspended cymbal + very soft beaters, vibraphone + 2 bows or soft mallets
percussion 4 — tam—tam + very soft beaters, tubular bells (c#4-a4) + soft beaters and medium beaters

setup.

Perc. 2 Perc. 3
Perc. 1 Perc. 4
synchronisation.

The piece can be synchronised in two ways.
a) with a conductor, in which case all markings referring to specific timings may be ignored.
b) with stop—watches, in which case the synchronisation can be more loose.
Timings should be used as a rough indicator for synchronisation, except where exact timings are asked for.

general.
Everything 1.v. always

vibraphones.

All notes are sustained always. This may be achieved through bowing or rolling with soft mallets
If the latter is chosen, the individual beats should barely be audible

and the overall sound as smooth as possible.

Whichever option is chosen, both vibraphones should use the same technique.

tam—tams and cymbals.

Where possible, tam—tams and cymbals should be chosen in a way that their spectra match the harmonies
in the vibraphones and bells.

During rolls, the playing should vary freely between different nodes (rim and centre) to create a
fluid and varied sound
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